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1. Which of the following is not one of the three primary objectives of effective internal control?

a. Reliability of financial reporting b. Efficiency and effectiveness of operations
¢. Compliance with laws and regulations d. Assurance of elimination of business risk.
2. A listing of all the things which the auditor will do to gather sufficient, competent evidence is the:
a. audit strategy. b. audit program.
¢. audit procedure. d. audit risk model.
3. General controls include all of the following except?
a. systems development. b. processing controls.
c. online security. d. hardware controls.

4. Which of the following is not a benefit of using IT-based controls?
a. Over-reliance on computer-generated reports.
b. Ability to replace manual controls with computer-based controls.
¢. Reduction in misstatements due to consistent processing of transactions.
d. Ability to process large volumes of transactions.

5. In which stage(s) of an audit are analytical procedures not performed?
a. In the planning stage. b. In the completion stage.

c. In the test of controls stage. d. In conjunction with tests of transactions and tests of details of balances.

6. An examination of part of an organization’s procedures and methods for the purpose of evaluating efficiency and effectiveness is
what type of audit? :

a. Financial statement audit. b. Compliance audit.
c. Operational audit. d. Production audit.
7. The least severe type of audit report for disclosing departures from GAAP is the?
a. adverse opinion. _ b. disclaimer of opinion.
c. qualified opinion. d. report on unaudited financial statements.

8. A basic objective of a CPA firm is to provide professional services to conform to professional standards. Reasonable assurance of
achieving this basic objective is provided through?
a. continning professional education. b. compliance with generally accepted reporting standards.
c. asystem of quality control. d. a system of peer review.
9. Which of the following circumstances would ordinarily not impair the auditor’s independence?
a. Litigation by a client against an audit firm related to tax services.
b. Litigation by a client against an audit firm claiming a deficiency in the previous audit.
c. Litigation by an audit firm against a client claiming management fraud or deceit.
d. Intent to start a lawsuit at some future date, after the current audit is completed, claiming a deficiency in the previous audit.
10. Audit report language may be modified for which of the following conditions?
a. Lack of consistent application of GAAP. b, Substantial doubt about continuing as a going concern.
c. Emphasis of a matter. d. Reports involving other auditors.
11. The introductory paragraph of the standard audit repart states that the financial statements are?
a. the responsibility of the auditor. b. the responsibility of management.
c. the joint responsibility of management and the auditor. d. none of the above.
12.1f the client’s internal control for recording sales returns and allowances is evaluated as ineffective?
a. a larger sample is needed to verify cutoff. .
b. sampling is not appropriate.
c. all sales returns must be traced to supporting documentation.
d. all sales returns must be confirmed with the customer.
[3.When a client uses perpetual inventory records, the tests of details of balances for inventory can be significantly reduced if the

auditor believes the records are accurate. The controls over the acquisitions included in the records are normally tested as a part of
the?

a. tests of controls. b. analytical procedures and tests of controls.
c. tests of details of balances. d. tests of controls and tests of transactions.
14. Which of the following is not an account affected by the sales and collection cycle?
a. Gross margin b. Accounts receivable
¢. Allowance for doubtful'accounts d. Cash
15.At what point do most companies recognize liabilities in the acquisition and payment cycle?
a. The issuance of a purchase order. b. Receipt of acknowledgement of order by vendor.
c. Receipt of goods or services. d. The receipt of a vendor statement.

16. When sales invoices are automatically calculated and posted by a computer, the auditor may be able to reduce substantive tests of
transactions for which, if any, objective?
a. Completeness b. Existence
¢. Accuracy d. None of the above
17. Prenumbered documents will only be useful for control purposes if:
a. a different numerical sequence is used for each company.
b. the same numerical sequence is used each accounting period.
c. employees are allowed to use documents out of numerical sequence.
d. the sequence is accounted for periodically.
18. Reports on agreed-upon procedures are intended to be distributed?
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a.to any party to whom the client wishes,
b. to only the involved parties, who would have the requisite knowledge about those procedures but not the level of assurance
resulting from them. '
c.}o only the involved parties, who would have the requisite knowledge about those procedures and the level of assurance resulting
rom them. '
d.only to the stockholders of the client.
19. Which of the following is not a condition for a contingent liability to exist?
a. The amount of the future payment is reasonably estimable.
b. There is uncertainty about the amount of the future payment.
¢. The outcome of an uncertainty will be resolved by some future event.
d. There is a potential future payment to an outside party that would result from a current condition.
20. The responsibility for identifying and deciding the appropriate accounting treatment for contingent liabilities rests with a company’s

a.auditors. b. legal counsel.
c.management. d. management and the auditors. -
21. Assurance provided by a review is substantially less than an audit. Which of the following statements is true regarding these
services?
a. A review requires more substantive evidence than an audit.
b. An audit requires less evidence related to internal control than a review.
¢. A review requires less evidence than an audit.
d. None of the above statements is true.
22. Auditors will generally send a standard inquiry letter to?
a. only those attorneys who have devoted substantial time to client matters during the year.
b. every attorney that the client has been involved with in the current or preceding year, plus any attorney the client engages on
occasion.
c. those attorneys whom the client relies on for advice related to substantial legal matters.
d. only the aftorney who represent the client in proceeding where the client is defendant.
23. Which of the following is not one of the categories of items included in the client letter of representation?
a.Subsequent events b. Materiality
c.Recognition, measurement, and disclosure d. Completeness of information
24.Almost all companies need physical controls over their assets to prevent loss. Which of the following is not an example of such a
control? .
a. Approved prenumbered documents for authorizing movement of inventory.
b. Segregated, limited-access storage areas.
c. Custody of assets assigned to specific responsible individuals.
d. Perpetual inventory master files. -
25.From which of the following evidence-gathering audit procedures would an auditor obtain most assurance concerning the existence
of inventories?
a.Written inventory representations from management.
b. Observation of physical inventory counts.
c.Confirmation of inventories in a public warehouse.
d. Auditor’s recomputation of inventory extensions.

26. Which of the following is a significant audit concern related to the transfer of inventory from one location to another?

a. Recorded transfers occurred. b. Transfers were properly transported.

¢.Transfers were properly planned. d.Transfers represent efficient movement of assets.
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